Puzzle #420
[image: image1.png]Sometimes puzzles and problems appear to
lack all the necessary information. This
puzzle falls into that category. Upon first
glance, you would swear there is not
enough information...but a closer look will
reveal that there is.

What is the value of F?

A+B=7Z

Z+P=T

T+A=F
B+P+F=130

A=20




Puzzle #420

Answer
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Since we know A + B =Z, it follows that
A+B+P=T. Since T + A =F, in the equation
B + P+ F =130, replace F with T + A.

B+P+T+A=1300rB+P+T=110,
Since A =20
Rearrange to solve for T:
20+B+P=T 65=T
110-B-P=T | T+A+=F;65+20=385
130 =2T F=385
















